

## Research Article

# Structure Properties for Binomial Operators

Chungou Zhang  and Shifen Wang

School of Mathematical Sciences, Capital Normal University, Beijing 100048, China

Correspondence should be addressed to Chungou Zhang; 3773@mail.cnu.edu.cn

Received 4 January 2019; Accepted 19 February 2019; Published 10 March 2019

Guest Editor: Tuncer Acar

Copyright © 2019 Chungou Zhang and Shifen Wang. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

In this paper, we discuss binomial operators structure properties, such as moments representation, derivatives representation, and binary representation and introduce some applications in preservation.

### 1. Introduction

As an extension to the well-known Bernstein operators, binomial operators are defined as follows (see [1], [2], or [3]):

$$(L_n^Q f)(x) = \frac{1}{b_n(1)} \sum_{k=0}^n \binom{n}{k} b_k(x) b_{n-k}(1-x) f\left(\frac{k}{n}\right), \quad (1)$$

$$f \in C[0, 1];$$

if  $b_n(1) = 0$ , then those operators are substituted by

$$(L_n^Q f)(x) = \frac{1}{b_n(n)} \sum_{k=0}^n \binom{n}{k} b_k(nx) b_{n-k}(n-nx) f\left(\frac{k}{n}\right), \quad (2)$$

$$f \in C[0, 1],$$

where  $(b_n)_{n \geq 0}$  is a sequence of binomial polynomials; i.e.,  $b_n(x)$  is a polynomial of  $n$  degree satisfying

$$b_n(x+y) = \sum_{k=0}^n \binom{n}{k} b_k(x) b_{n-k}(y), \quad n = 0, 1, 2, \dots \quad (3)$$

$Q$  is a delta operator (see Definition 2 below), which is determined by the sequence of binomial polynomials  $(b_n)_{n \geq 0}$  uniquely.

In order to explore the binomial operators approximation and preservation, in present paper we are to investigate

some structural properties, since behaviors of an operator are strongly dependent on its structure. In view of the Bernstein operators

$$(B_n f)(x) = \sum_{k=0}^n \binom{n}{k} x^k (1-x)^{n-k} f\left(\frac{k}{n}\right), \quad (4)$$

$$f \in C[0, 1],$$

with the following structural properties: endpoints interpolation, moments representation, derivatives representation, difference representation, and binary representation (see [4–10]), so our attention to the binomial operators will also focus on these aspects. On the study of Bernstein type operators, here we also want to refer to literatures [11–16].

In the next section, we introduce some primary concepts and results involved in this paper, which can be found in [1, 2, 17].

### 2. Notations and Preliminaries

Let  $\Pi_n$  be the linear space of polynomials of degree at most  $n$  and  $\Pi$  the space of all polynomials; i.e.,  $\Pi = \bigcup_{n \geq 0} \Pi_n$ . We denote by  $I$  the identity operator and  $D$  the derivative. For real number  $a$ , the shift operator  $E^a : \Pi \rightarrow \Pi$  is defined by  $E^a p(x) = p(x+a)$ ,  $x \in (-\infty, +\infty)$ .

*Definition 1.* If a linear operator  $T : \Pi \rightarrow \Pi$  commutes with all shift operators, then it is called a shift-invariant operator; i.e.,  $TE^a = E^a T$  for any a real number  $a$ .

From [17], we can find that if  $T_1$  and  $T_2$  are shift-invariant operators, then  $T_1 T_2 = T_2 T_1$ .

**Definition 2.** A shift-invariant operator  $Q$  is called a delta operator iff  $Qe_1 = \text{const} \neq 0$ , where  $e_i = e_i(t) = t^i$ ,  $i = 0, 1, \dots$ .

For delta operators, we have the following assertion.

**Theorem 3.** *The following statements are equivalent:*

- (i)  $Q$  is a delta operator.
- (ii) There exists a reversible shift-invariant operator  $P$  such that  $Q = DP$ .
- (iii) There exists a power series  $\phi(t) = \sum_{k=0}^{\infty} c_k (t^k/k!)$  with  $c_0 = 0, c_1 \neq 0$  such that  $Q = \phi(D)$ .

Every shift-invariant operator can always be represented by any one delta operator that is so-called “First Expansion Theorem” as below.

**Theorem 4.** *Let  $T$  be a shift-invariant operator, and let  $Q$  be a delta operator with basic polynomials  $b_n(x)$ ; then*

$$T = \sum_{k=0}^{\infty} \frac{a_k}{k!} Q^k \tag{5}$$

with  $a_k = [Tb_k(x)]_{x=0}$ .

**Definition 5.** Let  $K : \Pi \rightarrow \Pi$  be defined as  $(Kh)(t) = th(t)$ . For an operator  $T : \Pi \rightarrow \Pi$ , its Pincherle derivative  $T'$  is defined by  $T' = TK - KT$ .

From [17], it is known that if  $T$  is a shift-invariant operator, then also is  $T'$ .

**Definition 6.** Let  $Q$  be a delta operator. A polynomial sequence  $(b_n)_{n \geq 0}$  is called the sequence of basic polynomials associated with  $Q$  iff

$$\begin{aligned} b_0(x) &= 1, \\ b_n(0) &= 0, \\ Qb_n(x) &= nb_{n-1}(x), \end{aligned} \tag{6}$$

$n \geq 1$ .

It has been proved that every delta operator has a unique sequence of basic polynomials (see [17], Proposition 3). Moreover, if  $(b_n)_{n \geq 0}$  is the basic sequence of a delta operator  $Q$ , then  $(b_n)_{n \geq 0}$  is a sequence of binomial polynomials, and the converse is also right.

In this paper, we also need the following assertions. If  $Q$  is a delta operator, then  $Q'^{-1}$  exists and the binomial operator  $L_n^Q$  has the following representation.

**Theorem 7.** *The operator  $L_n^Q$  can be represented in the form*

$$(L_n^Q f)(x) = \sum_{k=0}^n \frac{k!}{n^k} \binom{n}{k} \left[ 0, \frac{1}{n}, \dots, \frac{k}{n}; f \right] d_{k,n}(x), \tag{7}$$

where

$$d_{k,n}(x) = \frac{1}{b_n(1)} (\Theta^k E^{1-x} b_{n-k})(x), \quad \Theta = KQ'^{-1} \tag{8}$$

and  $[0, 1/n, \dots, k/n; f]$  is divided difference of the function  $f$ . Using this theorem, we can get the moments of  $L_n^Q$  immediately

$$\begin{aligned} (L_n^Q e_r)(x) &= \frac{1}{b_n(1)} \sum_{k=0}^r \frac{k!}{n^k} \left[ 0, \frac{1}{n}, \dots, \frac{k}{n}; e_r \right] (\Theta^k E^{1-x} b_{n-k})(x), \tag{9} \\ & r = 0.1.2 \dots \end{aligned}$$

In particular, when  $r = 0, 1, 2$ , we have

$$\begin{aligned} (L_n^Q e_0)(x) &= 1, \\ (L_n^Q e_1)(x) &= x, \\ (L_n^Q e_2)(x) &= x^2 + \left( 1 - \frac{n-1}{n} \frac{(Q'^{-2} b_{n-2})(1)}{b_n(1)} \right) x(1-x). \end{aligned} \tag{10}$$

According to these moments and Korovkin theorem, it is easy to see that if  $L_n^Q$  is positive and  $((n-1)/n)((Q'^{-2} b_{n-2})(1)/b_n(1)) \rightarrow 1$ , then  $L_n^Q$  uniformly converges to the continuous function  $f$ .

For convenience, we denote all the positive operators  $L_n^Q$  by  $\mathcal{B}$ . Let  $\mathcal{F}$  be the set of all formal power series  $\phi(t) = \sum_{k=1}^{\infty} d_k (t^k/k!)$  with  $d_1 > 0, d_k \geq 0$ ; then the positivity of  $L_n^Q$  can be characterized as follows.

**Theorem 8.** *Let  $L_n^Q$  be defined as before, and  $Q = \phi(D)$ ; then  $L_n^Q \in \mathcal{B}$  iff*

$$\phi^{-1}(t) := \sum_{k=0}^{\infty} c_k \frac{t^k}{k!} \in \mathcal{F}. \tag{11}$$

Therefore, if  $L_n^Q \in \mathcal{B}$ , then  $b_n(x)$  has nonnegative coefficients, where  $(b_n)_{n \geq 0}$  is the sequence of basic polynomials associated with  $Q$ .

When  $Q = D$ , which is the simplest delta operator with the basic polynomials  $b_n(x) = x^n, n = 0, 1, \dots$ , its corresponding binomial operator  $L_n^Q$  is Bernstein operator  $B_n$ ; when  $Q = I - E^{-1}$ , which is also a delta operator and called backward difference operator with the basic polynomials  $b_n(x) = x(x+1) \dots (x+n-1), n = 0, 1, \dots$ , its corresponding binomial operator is so-called Stancu operator (see [1] or [2]).

### 3. Some Structure Properties of the Operator $L_n^Q$

Similar to Bernstein operators, the binomial operators  $L_n^Q$ , on which some researches can be found in [18–24], also have the property of endpoint interpolation; i.e.,  $(L_n^Q f)(0) = f(0)$  and  $(L_n^Q f)(1) = f(1)$ .

Applying  $[x_0, x_1, \dots, x_k; f] = \Delta_h^k/k!h^k$  to Theorem 7, we have the difference representation of  $L_n^Q$  as follows:

$$\begin{aligned} (L_n^Q f)(x) &= \frac{1}{b_n(1)} \sum_{k=0}^n \binom{n}{k} \Delta_{1/n}^k f(0) (\Theta^k E^{1-x} b_{n-k})(x). \end{aligned} \tag{12}$$

As is known to all, the derivative of Bernstein operators can be expressed by difference operators (see [4]):

$$\begin{aligned} B_n^{(r)}(f, x) &= n(n-1) \cdots (n-r+1) \sum_{k=0}^{n-r} \Delta_{1/n}^r f\left(\frac{k}{n}\right) b_{(n-r)k}(x), \end{aligned} \tag{13}$$

but the derivatives of  $L_n^Q$  can not be expressed in this form; actually when  $r = 1, 2$  they have the following representation.

**Proposition 9.** Let  $Q$  be a delta operator and  $(b_n)_{n \geq 0}$  be the sequence of basic polynomial associated with  $Q$ ; then

$$\begin{aligned} D(L_n^Q f)(x) &= \frac{1}{b_n(1)} \sum_{k=0}^{n-1} \binom{n}{k} b'_{n-k}(0) \\ &\cdot \sum_{l=0}^k \binom{k}{l} b_l(x) b_{k-l}(1-x) \cdot \left[ f\left(\frac{n-k+l}{n}\right) - f\left(\frac{l}{n}\right) \right]; \\ D^2(L_n^Q f)(x) &= \frac{1}{b_n(1)} \sum_{k=1}^{n-1} \binom{n}{k} b'_{n-k}(0) \sum_{l=0}^{k-1} \binom{k}{l} b'_{k-l}(0) \\ &\cdot \sum_{j=0}^l \binom{l}{j} b_j(x) b_{l-j}(1-x) \cdot \left[ f\left(\frac{n-l+j}{n}\right) - f\left(\frac{k-l+j}{n}\right) - f\left(\frac{n-k+j}{n}\right) + f\left(\frac{j}{n}\right) \right]. \end{aligned} \tag{14}$$

*Proof.* By Theorem 4, we have

$$D = \sum_{l=0}^{\infty} \frac{b'_l(0)}{l!} Q^l; \tag{15}$$

it follows that

$$b'_k(x) = D b_k(x) = \sum_{l=0}^k \binom{k}{l} b'_l(0) b_{k-l}(x), \tag{16}$$

so that

$$\begin{aligned} \sum_{k=0}^n \binom{n}{k} b'_k(x) b_{n-k}(1-x) f\left(\frac{k}{n}\right) &= \sum_{k=1}^n \binom{n}{k} \sum_{l=0}^k \binom{k}{l} \\ &\cdot b'_l(0) b_{k-l}(x) b_{n-k}(1-x) f\left(\frac{k}{n}\right) = \sum_{k=1}^n b'_k(0) \\ &\cdot \sum_{l=k}^n \binom{n}{l} \binom{l}{k} b_{l-k}(x) b_{n-l}(1-x) f\left(\frac{l}{n}\right) = \sum_{k=1}^n \binom{n}{k} \\ &\cdot b'_k(0) \sum_{l=0}^{n-k} \binom{n-k}{l} b_l(x) b_{n-k-l}(1-x) f\left(\frac{k+l}{n}\right). \end{aligned} \tag{17}$$

In the same way, we have

$$\begin{aligned} \sum_{k=0}^n \binom{n}{k} b_k(x) b'_{n-k}(1-x) f\left(\frac{k}{n}\right) &= \sum_{k=1}^n \binom{n}{k} b'_k(0) \\ &\cdot \sum_{l=0}^{n-k} \binom{n-k}{l} b_l(x) b_{n-k-l}(1-x) f\left(\frac{l}{n}\right). \end{aligned} \tag{18}$$

Therefore, we get

$$\begin{aligned} D(L_n^Q f)(x) &= \frac{1}{b_n(1)} \sum_{k=1}^n \binom{n}{k} b'_k(x) b_{n-k}(1-x) \\ &- \frac{1}{b_n(1)} \sum_{k=1}^n \binom{n}{k} b_k(x) b'_{n-k}(1-x) = \frac{1}{b_n(1)} \\ &\cdot \sum_{k=1}^n \binom{n}{k} b'_k(0) \sum_{l=0}^{n-k} \binom{n-k}{l} b_l(x) b_{n-k-l}(1-x) \\ &\cdot \left[ f\left(\frac{k+l}{n}\right) - f\left(\frac{l}{n}\right) \right] = \frac{1}{b_n(1)} \sum_{k=0}^{n-1} \binom{n}{k} b'_{n-k}(0) \\ &\cdot \sum_{l=0}^k \binom{k}{l} b_l(x) b_{k-l}(1-x) \\ &\cdot \left[ f\left(\frac{n-k+l}{n}\right) - f\left(\frac{l}{n}\right) \right]. \end{aligned} \tag{19}$$

An argument similar to the above one, it is no difficult to obtain the expression for the second derivative of the operators  $D^2(L_n^Q f)(x)$ . The proof is completed.  $\square$

This proposition supplies us a new proof for the next results known (see [1]).

**Theorem 10.** Let  $L_n^Q \in \mathcal{B}$ .

(i) If  $f$  is increasing (decreasing) on  $[0, 1]$ , then it also is  $L_n^Q f$ .

(ii) If  $f$  is convex (concave) on  $[0, 1]$ , then it also is  $L_n^Q f$ .

*Proof.* (i) It is trivial.

(ii) Without loss of generality, we may assume  $f$  is convex. Recall that if  $f$  is convex on  $[0, 1]$ , then for any  $x_1, x_2, x_3, x_4 \in [0, 1]$  and  $x_1 < x_2, x_3 < x_4$  the following holds:

$$\frac{f(x_1) - f(x_2)}{x_1 - x_2} \leq \frac{f(x_3) - f(x_4)}{x_3 - x_4}. \quad (20)$$

Obviously,

$$\begin{aligned} \frac{j}{n} &< \frac{k-l+j}{n}, \\ \frac{n-k+j}{n} &< \frac{n-l+j}{n}, \\ j &< k < l < n, \end{aligned} \quad (21)$$

and it follows that

$$\begin{aligned} &\frac{f((n-k+j)/n) - f(j/n)}{1-k/n} \\ &\leq \frac{f((n-l+j)/n) - f((k-l+j)/n)}{1-k/n}, \end{aligned} \quad (22)$$

so that

$$\begin{aligned} &f\left(\frac{n-l+j}{n}\right) - f\left(\frac{k-l+j}{n}\right) - f\left(\frac{n-k+j}{n}\right) \\ &+ f\left(\frac{j}{n}\right) = \left(1 - \frac{k}{n}\right) \\ &\cdot \left[ \frac{f((n-l+j)/n) - f((k-l+j)/n)}{1-k/n} \right. \\ &\left. - \frac{f((n-k+j)/n) - f(j/n)}{1-k/n} \right] \geq 0. \end{aligned} \quad (23)$$

According to Theorem 8, it follows that  $(b_n)_{n \geq 0}$  has nonnegative coefficients, which mean  $b_i(x) \geq 0$  for any  $x \in [0, 1]$  and  $b_i'(0) \geq 0, i = 0, 1, \dots$ . These lead to  $D^2(L_n^Q f) \geq 0$ , which complete the proof.  $\square$

The binomial operators have binary representation similar to Bernstein operators as follows.

**Proposition 11.** *If  $L_n^Q$  is defined as before, then*

$$\begin{aligned} (L_n^Q f)(x) &= \frac{1}{b_n(1)} \sum_{k=0}^n \binom{n}{k} \sum_{l=0}^{n-k} B_{nkl}(x, y) f\left(\frac{k}{n}\right); \\ (L_n^Q f)(y) &= \frac{1}{b_n(1)} \sum_{k=0}^n \binom{n}{k} \sum_{l=0}^{n-k} B_{nkl}(x, y) f\left(\frac{k+l}{n}\right), \end{aligned} \quad (24)$$

where  $B_{nkl} = (n!/k!l!(n-k-l)!)b_k(x)b_l(y-x)b_{n-k-l}(1-y)$ ,  $x < y$ .

*Proof.* By definition of sequence of binomial polynomials, we have

$$\begin{aligned} b_{n-k}(1-x) &= \sum_{l=0}^{n-k} \binom{n-k}{l} b_l(y-x)b_{n-k-l}(1-y), \\ b_k(x) &= \sum_{l=0}^k \binom{k}{l} b_l(y-x)b_{k-l}(x), \end{aligned} \quad (25)$$

and thus

$$\begin{aligned} (L_n^Q f)(x) &= \frac{1}{b_n(1)} \sum_{k=0}^n \binom{n}{k} b_k(x)b_{n-k}(1-x) f\left(\frac{k}{n}\right) \\ &= \frac{1}{b_n(1)} \sum_{k=0}^n \sum_{l=0}^{n-k} \frac{n!}{k!l!(n-k-l)!} b_k(x)b_l(y-x) \\ &\cdot b_{n-k-l}(1-y) f\left(\frac{k}{n}\right) = \frac{1}{b_n(1)} \sum_{k=0}^n \sum_{l=0}^{n-k} B_{nkl}(x, y) \\ &\cdot f\left(\frac{k}{n}\right), \end{aligned} \quad (26)$$

and

$$\begin{aligned} (L_n^Q f)(y) &= \frac{1}{b_n(1)} \sum_{k=0}^n \binom{n}{k} b_k(y)b_{n-k}(1-y) f\left(\frac{k}{n}\right) \\ &= \frac{1}{b_n(1)} \sum_{k=0}^n \sum_{l=0}^k \frac{n!}{k!l!(n-k-l)!} b_l(y-x)b_{k-l}(x) \\ &\cdot b_{n-k}(1-y) f\left(\frac{k}{n}\right) = \frac{1}{b_n(1)} \\ &\cdot \sum_{k=0}^n \sum_{l=0}^{n-k} \frac{n!}{k!l!(n-k-l)!} b_k(x)b_l(y-x) \\ &\cdot b_{n-k-l}(1-y) f\left(\frac{k+l}{n}\right) = \frac{1}{b_n(1)} \\ &\cdot \sum_{k=0}^n \sum_{l=0}^{n-k} B_{nkl}(x, y) f\left(\frac{k+l}{n}\right), \end{aligned} \quad (27)$$

where

$$B_{nkl} = \frac{n!}{k!l!(n-k-l)!} b_k(x)b_l(y-x)b_{n-k-l}(1-y). \quad (28)$$

This completes the proof.  $\square$

Using this proposition, we not only can prove Theorem 2.2(i) but also show the following result, which can be found in [3].

**Theorem 12.** *If  $L_n^Q \in \mathcal{B}$  and  $f \in Lip_M \alpha$  ( $0 < \alpha \leq 1$ ), then  $L_n^Q f \in Lip_M \alpha$ , where*

$$\begin{aligned} Lip_M \alpha &= \{f \in C[0, 1] : \forall x, y \in [0, 1], \exists M \\ &> 0, \text{ s.t. } |f(y) - f(x)| \leq M(y-x)^\alpha\}. \end{aligned} \quad (29)$$

*Proof.* First, we need the following two identities:

$$\begin{aligned} \frac{1}{b_n(1)} \sum_{k=0}^n \binom{n}{k} \sum_{l=0}^{n-k} B_{nkl}(x, y) &= 1, \\ \frac{1}{b_n(1)} \sum_{k=0}^n \binom{n}{k} \sum_{l=0}^{n-k} B_{nkl}(x, y) \frac{l}{n} &= y - x. \end{aligned} \tag{30}$$

The first one can be derived easily by the definition of the sequence of binomial polynomials; the rest only need to prove the second one. In fact, by the definition of  $B_{nkl}(x, y)$  and exchange the order of sum, we have

$$\begin{aligned} \frac{1}{b_n(1)} \sum_{k=0}^n \binom{n}{k} \sum_{l=0}^{n-k} B_{nkl}(x, y) \frac{l}{n} &= \frac{1}{b_n(1)} \\ &\cdot \sum_{l=0}^n \binom{n}{l} b_l(y-x) \frac{l}{n} \\ &\cdot \sum_{k=0}^{n-l} \binom{n-l}{k} b_k(x) b_{n-l-k}(1-y) = \frac{1}{b_n(1)} \\ &\cdot \sum_{l=0}^n \binom{n}{l} b_l(y-x) b_{n-l}(x+1-y) \frac{l}{n} = y-x. \end{aligned} \tag{31}$$

Now, we turn to the proof of this theorem. Since, for any  $x < y$  and  $0 < \alpha \leq 1$ , there is

$$|f(y) - f(x)| \leq M(y-x)^\alpha, \tag{32}$$

by the identities above and  $L_n^Q \in \mathcal{B}$ ; we obtain

$$\begin{aligned} &|(L_n^Q f)(y) - (L_n^Q f)(x)| \\ &\leq \frac{1}{b_n(1)} \sum_{k=0}^n \sum_{l=0}^{n-k} B_{nkl}(x, y) \left| f\left(\frac{k+l}{n}\right) - f\left(\frac{k}{n}\right) \right| \\ &\leq M \frac{1}{b_n(1)} \sum_{k=0}^n \sum_{l=0}^{n-k} B_{nkl}(x, y) \left(\frac{l}{n}\right)^\alpha \\ &\leq M \left[ \frac{1}{b_n(1)} \sum_{k=0}^n \sum_{l=0}^{n-k} B_{nkl}(x, y) \frac{l}{n} \right]^\alpha = M(y-x)^\alpha, \end{aligned} \tag{33}$$

which means that  $L_n^Q f \in Lip_M \alpha$ . The proof of the theorem is now complete.  $\square$

In this paper, we discuss structure properties of the binomial operators, present the moments representation, the derivatives representation, and the binary representation of these operators, and introduce some applications in preservation. Here authors also wish to express their gratitude to the reviewers for the careful review and suggestions for improvement of this manuscript.

### Data Availability

No data were used to support this study.

### Conflicts of Interest

The authors declare that they have no conflicts of interest.

### Acknowledgments

This work was supported by the Natural Science Foundation of China (11671271) and by Beijing Municipal Education Commission Science and Technology Plan project (KM201510028003).

### References

- [1] A. Lupas, "Approximation operators of binomial type," in *New Developments in Approximation Theory (Dortmund, 1998)*, vol. 132 of *International Series of Numerical Mathematics*, pp. 175–198, Birkhauser Verlag, Basel, Switzerland, 1999.
- [2] M. Craciun, "Approximation operators constructed by means of Sheffer sequences," *Revue D'analyse Numerique et de Theorie de L'approximation*, vol. 30, no. 2, pp. 135–150, 2001.
- [3] O. Agratini, "Binomial polynomials and their applications in approximation theory," *Conferenze Del Seminario Di Matematica Dell' Universita Di Baari*, vol. 281, pp. 1–22, 2001.
- [4] R. A. DeVore and G. G. Lorentz, *Constructive Approximation*, Springer-Verlag, 1993.
- [5] L. Zhongkai, "Bernstein polynomials and modulus of continuity," *Journal of Approximation Theory*, vol. 102, no. 1, pp. 171–174, 2000.
- [6] H. Berens and R. DeVore, *A characterisation of Bernstein polynomials*, in *Approximation Theory III*, E. W. Cheney, Ed., Academic Press, NY, USA, 1980.
- [7] G. G. Lorentz, *Bernstein Polynomials*, Univ. Press, Toronto, Canada, 1953.
- [8] H.-B. Knoop and X. L. Zhou, "The lower estimate for linear positive (II)," *Results in Mathematics*, vol. 25, pp. 315–330, 1994.
- [9] V. Totik, "Approximation by Bernstein polynomials," *American Journal of Mathematics*, vol. 116, no. 4, pp. 995–1018, 1994.
- [10] S. Cooper and S. Waldron, "The eigenstructure of the Bernstein operator," *Journal of Approximation Theory*, vol. 105, pp. 133–165, 2000.
- [11] S. Ostrovka and M. Turan, "On the eigenvectors of the  $q$ -Bernstein operators," *Mathematical Methods in the Applied Sciences*, vol. 37, no. 4, pp. 562–570, 2014.
- [12] H. Karsli, "Approximation results for urysohn type two dimensional nonlinear Bernstein operator," *Constructive Mathematical Analysis*, vol. 1, no. 1, pp. 45–57, 2018.
- [13] A. M. Acu, S. Hodiş, and I. Raşa, "A survey on estimates for the differences of positive linear operators," *Constructive Mathematical Analysis*, vol. 1, no. 2, pp. 113–127, 2018.
- [14] I. A. Rus, "Iterates of Bernstein operators, via contraction principle," *Journal of Mathematical Analysis and Applications*, vol. 292, no. 1, pp. 259–261, 2004.
- [15] O. Agratini and I. A. Rus, "Iterates of a class of discrete linear operators via contraction principle," *Commentationes Mathematicae Universitatis Carolinae*, vol. 44, pp. 555–563, 2003.
- [16] D. Barbosu, "On the remainder term of some bivariate approximation formulas based on linear and positive operators," *Constructive Mathematical Analysis*, vol. 1, no. 2, p. 7387, 2018.

- [17] G.-C. Rota, D. Kahaner, and A. Odlyzko, "Finite operator calculus," *Journal of Mathematical Analysis and Application*, vol. 42, pp. 685–760, 1973.
- [18] T. Popviciu, "Remarques sur les polyômes binomiaux," *Mathematica*, vol. 6, pp. 8–10, 1932.
- [19] M. M. Derriennic, "Sur l'approximation de fonctions intégrables sur  $[0, 1]$  par des polynômes de Bernstein modifiés," *Journal of Approximation Theory*, vol. 31, no. 4, pp. 325–343, 1981.
- [20] G.-C. Rota, J. Shen, and B. D. Taylor, "All polynomials of binomial type are represented by Abel polynomials," *Annali Della Scuola Normale Superiore di Pisa Classe di Scienze*, vol. 25, no. 4, pp. 731–738, 1997.
- [21] M. E. Ismail, "Polynomials of binomial type and approximation theory," *Journal of Approximation Theory*, vol. 23, no. 3, pp. 177–186, 1978.
- [22] L. Lupas and A. Lupas, "Polynomials of binomial type and approximation operators," *Studia University Babes-Bolyai, Mathematica*, vol. 32, no. 4, pp. 61–69, 1987.
- [23] P. Sablonnier, "Positive Bernstein-sheffer operators," *Journal of Approximation Theory*, vol. 83, no. 3, pp. 330–341, 1995.
- [24] D. D. Stancu and M. R. Occorsio, "On approximation by Binomial Operators of Tiberiu Popviciu type," *Revue d'Analyse Nnumber et de Theorie de l'Approximation*, vol. 27, no. 1, pp. 167–181, 1998.



**Hindawi**

Submit your manuscripts at  
[www.hindawi.com](http://www.hindawi.com)

